CBSE Class 12 Economics Compartment Question Paper 2020 (September 22, Set 3- 58/C/3)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper comprises two sections — A and B. All questions are
compulsory.

(11)  Question numbers 1 — 10 and 18 — 27 are very short-answer questions
carrying 1 mark each. They are required to be answered in one word or
one sentence each.

(111) Question numbers 11 — 12 and 28 — 29 are short-answer questions
carrying 3 marks each. Answers to them should not normally exceed

60 — 80 words each.

(iv) Question numbers 13 — 15 and 30 — 32 are also short-answer questions
carrying 4 marks each. Answers to them should not normally exceed

80 — 100 words each.

(V) Question numbers 16 — 17 and 33 — 34 are long answer questions carrying
6 marks each. Answers to them should not normally exceed

100 - 150 words. each.

(vi) Answers should be brief and to the point. Also the above word limit be
adhered to as far as possible.

(vit) There is no overall choice. However, an internal choice has been provided
in 2 questions of ene mark, 2 questions of three marks, 2 questions of four
marks and 2 questions of six marks. Only one of the choices in such
questions have to be attempted.

(viit) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(MACRO ECONOMICS)

1. 1s an example of a non-tax revenue receipt.

(Fill in the blank with the correct answer) 1

2. If Marginal Propensity to Save (MPS) 1s equal to zero, the value of

investment multiplier will be

(Fill 1n the blank with the correct answer) 1
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3. (e HIT/HA Gid) T dTcdd Teh AWT I8 b GHH Teh AATIEAT H
$A JATRE =T H 7 (T&t foehed gra ik Tu@ 61 gfd shifeiw) 1
4. T @rd IR (3THRY) hl GRUTVT HIT | 1
3Tl
YA Gaid hl 9T TEET a9 ITH Bidl g ote gl Jifaal R I
g oA (S[R/ETTeHh) el & |

(Tgt Tashed gru Tk T Al qid shifsw) 1
5. 3gd <hitau foh MHTAIRGd ¥ TcF 8 A1 IFGT

“Sfet o wanfea foram T fenfies a0 Teprice aTerdr &1 32T & |7 1
6. | SHT hl YRHTNG hifSU | 1
7. ‘U hI YT fIRgU | 1

8.  3gW oIl (b HH[ARGd e T & I IHGT
“Feor faf e @t woTret & q8d S foea g 0 dig i Sl @, a1 36 qg1

A <hal STdl & | 1

9. gl U hl A h S BT 3 |
(Fal I g =k ¥ 61 gid hife) 1

10. Jf¢ TR 39N (C) [ § AU &, a1 Jg Il & Toh Adaeen &l g

AT Uil (Tat foshed g Tk ®2™ bl gfd i) 1

(A)  wedl B3

(B) Tt g8

(C) I[HA

(D) e
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3. (Aggregate Demand/Aggregate Supply) refers to total ex-ante

expenditure in an economy during an accounting year.

(Fill 1in the blank with the correct alternative) 1

4, Define Current Account Surplus. 1
OR

Equilibrium in Balance of Payments 1s achieved when the net value of all

the receipts and payments is (zero/positive).

(Fill 1in the blank with the correct alternative) 1

. State whether the following statement is ¢rue or false :

“Industrial waste driven into rivers 1s an example of positive externality.” I

6. Define demand deposit. 1
7. Define ‘Tax’. 1
8. State whether the following statement is ¢rue or false :

“Devaluation of currency 1s said to occur when the exchange rate 1s

increased under the fixed exchange rate system.” 1
9. The value of money multiplier 1s equal to
(F1ll in the blank with the correct answer) 1

10. If Autonomous Consumption (C) is greater than zero, it indicates that
the National Income of the economy will be
(F1ll 1n the blank with the correct alternative) 1

(A)  rising
(B) falling
(C) zero

(D) constant
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12.

13.

=1t dor foesn @ urg e @g 3 | fave hifsu | 3

AT

“Taceli @ U9 I[g 919 3 ST ROcHe T8l & Fohdl g | TqU T HYF
3fa 9o e THYF YT Wed hitvu | 3

Teh IYFITEYT o FHTARId 3TTehel gl (a) 39N =3I a7 (b) o == i

T shifolu - 3
- T
%.9. | [9aw (z &)
i) 3 T 9T T 5,000
(i) LA 399 500
(i) | EMETG = g 0-4

“Teh TP TEiYd faldl 9uTell (managed floating system)a% A AT EE;J%
ol hl M-SR hH WAl 3 | FieTd Toe=H1 hIfST Tk I8 TohH TohR 39 TY
o Tfar sl gutiad s | 4

AT

‘Wd | fodsft Mesr o6 YdH 99 % fhd 981 q1 fhe 3I9-Erd H &S ol

ST ? 379 3T oh Y& H O deh T&d <hIToIT | 4
14. TR S9¢ H TSN 91 9T U9 91¢ | fade hifsu | 4
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11. Distinguish between exports and net factor income from abroad. 3

OR

“Net factor income from abroad can never be negative.” Defend or refute

the given statement with valid argument. 3

12. From the following data, calculate the (a) Consumption Expenditure and

(b) Investment Expenditure for the economy. J
S. No. | Particulars A(?:logl)lt
(1) Equilibrium level of income 5,000
(11) Autonomous consumption 500
(111) Marginal Propensity to Save 0-4

13. “A country deliberately keeps the value of its currency low under the
managed floating system.” Discuss briefly how i1t will affect the exports of

the country. 4
OR

On which side and in which sub-account of Balance of Payments, will
‘foreign investment in India’ be recorded ? State valid reason for your

alnswer. 4

14. Distinguish between fiscal deficit and revenue deficit in a Government
Budget. 4
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15. hcld ok o dhl o deh hIF h] JUM ShITVU | 4

16. (a) 3I9Gh HRU od FY FdSC foh Teh oo™ & IeAUH <hl HATT I

T 3T &hl AT § fohd JohR & Hequi/diadred foham e 2 2
(b) ‘IrEdfaeh Hehdd BT 3ICUIG AAT Hifgeh Hehel W] 3IcUG H AT TT
$ITTT | 4

17. (a) “orefoygwen ¥ firedt g5 6T &I agma <o % U, 7@ € # wwd o
Sk 9 W1 2T 91 g Wi e ° HH HI B | hegld Soh T 33U T B4

el o D o 3T shl s shifsu | 4

(b) ‘1Af=a® U <l IRHTvG shifse | 9
SOG

AITHIdeh 3TAUA bl T 7Y 7 2 JAIEhHITder TaUa hi 39 gifedfa o gumem™

o 7T fehmgi 21 Hiigeh IURUN ol IZE shifIT | 6

QUE @
(TR STASTTEUT T TorehTd )
18.  ‘3TYTeh TEAT hl IRUTNG hIfSw | 1

19. 3gQ <hifVU foh HHTARGd e TeF & 9T IGT
“arefiren Torerm § rerfaes qT HTeAfues el ST <kl fIrer snfee gt 8 17 1
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15. Describe the ‘Bankers’ Bank’ function of the Central Bank. 4

16. (a) Giving valid reasons, state how the services of a ‘School Teacher’

will be undertaken in estimation of National Income. 2

(b)  Distinguish between ‘Real Gross Domestic Product’” and ‘Nominal

Gross Domestic Product’'. 4

17. (a) “To boost the falling demand in the economy, Reserve Bank of
India recently reduced Repo Rate and Reverse Repo Rate.”
Elaborate the rationale behind the steps taken by the Central
Bank. 4

(b)  Define involuntary unemployment. 2
OR

What 1s meant by deflationary gap ? State any two monetary measures to

correct the situation of deflationary gap. 6

SECTION B
(INDIAN ECONOMIC DEVELOPMENT)

18. Define ‘infrastructure’. 1

19. State whether the following statement 1s true or false :

“Elementary education covers both primary and middle level education.” 1
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20. =M H, HEH HIE] q9 9 gaiud 7 |
(w5t fashed g fih T &1 qfd shifeiw) 7

(A) N

(B) 3

(C)  Ha

(D) SHEIY=TE
21. YR U JSHTI I &I &, (FHMA/AGHEAT) o 1Y 3ATIh

foentd o | (wgt fashen g Tk w2 Al gfd shileiw) 1
22, TH T U< 4 Bitae (GLF) NN &1 & U <hfrgd oT |

(Tat foesheu gru ik T bl qid i) 1

(A) TR

(B) _ <hiN

(C) . THSIehLu

(D) " 3ATUS GUR

23. 3IgW HIWT b HHIARIT HIF 7 8 AAAT FET

“ITIT I IcdiSid YU H TSR0 Nl Bl B | 1
24, T % Gd 9H °, ToeT 91 9N o O a%qAl o qiagd ol

AN | hHT 3T off | (fh =a <1 qfd hifoe) 1
25. Hgl % STAHeIH bl TRHTYT HIFT | 1
26. ‘fouivrg feRiy’ hi ity i | 1

GOC

‘RN IcATGhdT | T MUY B 2 1
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20. In China, commune system is related to sector.
(F1ll 1n the blank with the correct alternative) 1

(A) agriculture
(B) industry
(C)  service

(D) 1informal

21. Economic growth combined with (equity/disparity) was the

principal goal of planning in India.

(Fill 1n the blank with the correct alternative) 1

22. The Great Leap Forward (GLF) campaign in China focused on .
(F1ll in the blank with the correct alternative) 1

(A) Industrialisation
(B) -~ Agriculture
(C) = Privatisation

(D) Economic Reforms

23. State whetherthe following statement 1s true or false :

“Smoke emitted by the industries leads to environmental pollution.” 1
24. Opening of Canal significantly reduced the cost of

transportation of goods between Britain and India. (Fill in the blank) 1
25. Define devaluation of currency. 1
26. Define Marketed Surplus. 1

OR
What is meant by Agricultural Productivity ? 1
LY s
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27. THiciRad | | fohd Yo shl SUSHTRI | A3ig hl AT Icqraehd I Bidl & 2
(wat Taeheq &1 =¥ hileie) 1

(A) FEATHS SO
(B) 3Tf<s U

(C) et ST
(D) Y=ad ST
28, UV &UT o TRl gl J&I HIUN I Ig@ qAT =] hITT | 3
CPCI|
YRd H Sifaeh Y & Teheal gl AT S 3g@ hINIT | 3
29. YUY fdenm <hl Tt Teh TorHitd 1 9uig hifa | 3
30. YUR A 4 ANk &k o HUTSHH HeU1gH o fohal gl RO I 3@ 9
Il hiTeg | 4
31. YRAT JAASFGEAT bl AT AhAT o 3Ie¥q b &4 H ATH-HYLAT & =34 o
3 St H&q. o Il shifag | 4
3Tt
“URd 1 J: Tava 1 SR Tded el AT & | 9YRd ol QU 7T 39 9™
o T RVl 1 3@ dAT Il hiT | 4
32, SHAMEIH! o ATYR W YR o UTThEd™ hl T hITaIT | 4
33. (a) HHS-SHEEIT AU sl TRYTVT HIT | IE T ST 8 ? 4
(b) {Rd H ol Hehe ¥ U & oTU, BT &l § TohU Y fehrdl a1 U T
== I | 2
3Tl
“qRd H TS IV HIAhH, g BRI H JATANSTh @ & | UH Toheal o
HROT I Tewuff ShifT | 6
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27. In which of the following type of unemployment 1s the marginal
productivity of the worker zero ? (Choose the correct alternative) i

(A)  Structural unemployment
(B) Involuntary unemployment
(C)  Seasonal unemployment

(D)  Disguised unemployment

28. State and discuss any two principal causes of environmental degradation. J
OR

Mention any two advantages of organic farming in India. 3

29. Describe any one strategy of sustainable development. 3

30. State and discuss any two reasons for the poor performance of industrial
sector 1n the reforms period. 4

31. Discuss briefly the rationale behind choosing ‘self-reliance’ as an objective

for the planning process of the Indian economy. 4
OR
“India 1s often called as ‘outsourcing hub’ of the world.” State and discuss
the prime reasons for this name given to India. 4
32. Compare India and Pakistan on the basis of their demography. 4
33. (a) Define worker-population ratio. What does it signify ? 4
(b)  Discuss any two reforms which have been initiated recently to
meet the energy crisis in India. 2
OR

“In India, the Poverty Alleviation Programmes have been found
unsatisfactory due to many reasons.” Comment on any three such

reasons. 6
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34. (a) “TrETd YUYW AATIEAT b qdldeh &F H IcAIGhdl el a | o
379 12U TU oM U UgHd & ? Y4 3T o Y H H deh ST | 4

(b)  HEA o JHIIARIRET § &7 dIcqd 8 ? 9
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34. (a)

(b)
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“Infrastructure facilities raise productivity in the tertiary sector of
the economy.” Do you agree with the given statement ? Support

your answer with valid arguments. 4

What i1s meant by informalisation of workforce ? 2

12
collegedunia:

India’s largest Student Review Platform






